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B yos 53
@ XNAFES JIgtx 4y (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O E30IS FESTAS AL 2 A S XU
600,000%5H 2~ 3,000
301 LEHZ 5,200 5,200 0
09 HALAHIX RS 5,200 5,200 0
OFEs0ts &M EA(EH &2H, NEX
CHal, FESTA S) 110,000%4H *53| 2,200
OZEsils 2E9/A 2=+3230t2 A&
val-ly 200,000 10 2,000
O&¥Eslot2 ottdiol ng &4
100,000%10¥H 1,000
307 gl2tol & 124,177 118,452 5,725
< 29,866
Al 94,311
02 PIZHEHAHE L 7,000 10,000 23,000
OZFEsl0ts E43 8ibl XA 7,000,000 7,000
03 QIAtHNHE2IHIEE 17,177 108,452 8,725
O&Z30ts T2 08 2e|X OIS/ E X2 A
2 (elAl) 117,176,070 17,177
< 29,866
Al 87,311
220 & JfelEE 2 185,435 113,580 71,855
201 LBt 185,435 113,580 71,855
01 At2 22l H| 168,636 96,224 72,412
OBIOIH A Al SIAASH 32,000%668H 21,376
OUPCXI 2|0l H2tAIERA 35,000+668H 23,380
OBt X2l AIAE(PMS) H2tAIS A
40,000+668 M 26,720
OPC QI EHE 22| AIAE 7 80,000,000%14) 80,000
OMABEE I S2AIAAE HOINME FIt
< OH 5,000,000%34! 15,000
Ogl2t OOl EIDtoI & 21 F ==+2 660,000x1 660
OMeIZEEs 20 2eteln=
1,500,000+ 14 1,500
02 3322l 16,799 17,356 A D57
OMNIEEBESAIAE(PC-Filter) s Xl2&el
53,686, 000 10% 5,369
OBZIIAUHM2lAIAE Rl 2tel
35,500,000 10% 3,550
ONUEBEFEZI IS 2L AAE S22
98,500, 000*8% 7,880
g Ictol=tiol8 AN =4 500,000 900,000 A 400,000
308 XXX S0 A 500,000 500,000 0
11 32SoHUHS B HEAE ALS I 500,000 500,000 0
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AL )-3XtE & 500,000, 000 500,000
HEZEBANAE D& 1,289,328 962,396 326,932
HEZEANAEY 29I 375,717 257,689 118,028
201 Let24d] 148,877 148,374 503
02 =24l 148,877 148,374 503
O#HFAL TZ ) (S/W) A 22 41,954
—2ZEQN Xratzte] AlIAE 7X 22
44,990,000+ 10% 4,499
—ANEQIUAAAE S22
96,600,000 10% 9,660
— NHEZHMOH S/W =X 22
69,540, 000%10% 6,954
—SEXAE 2 HAAYR S/W KX 2L
31,230, 000%10% 3,123
—dIBA /W KX 2 31,746,000%10% 3,175
—HEZEUHAHN S/W KA 22
6,200,000+ 10% 620
—M2S8=210!1(SS0) =Xl=cl
80,000,000 10% 8,000
—dAUEMAIAE 4Z2SW RA22
50,872,000%10% 5,088
— AL 2ACALAE S 2e
8,350,000+ 10% 835
OSEANE RA2c 10,731
—dMA SLHEAAE S22
27,000,000 10% 2,700
—RIAMTAEX |22
21,413,000%2CH x7% 2,998
— 285l S22l 25,164,000%20H *10% 5,033
OSgdete A & KXl 96,192
— HPEAF A EH (11CH) 226,979,070%7% 15,889
— IBMAF A B (17CH) 491,380,000%7% 34,397
— EMC, HPAF M & &8I (24)) 238,325,000%7% 16,683
— AHEBARAX S 2l 98,476,000%7% 6,894
— QctS At DBMS 72,333,000%28% 20,254
— 8 UEZMAAEY Weblogic SXI2el
20,741,000%10% 2,075
308 XX EHSOIA 109,840 109,315 525
113/ 2SoHUHSZ&EEALS I 109,840 109,315 525
OFNZMAIAY 28X A EHI
10,000, 00014 10,000
OBNZMAIAY AEEAZTEAN S|
2,708,000* 14! 2,708
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OXNUHMNESHBANALY AGDHH 2HXS
P EHH| 6,560,000 14! 6,560
ONZT ZEIGAAL U HH=2ALEY 2
X2e| ¢ | 90,572,000% 14! 90,572
405 XHo&HF S HI 117,000 0 117,000
01 XA 2 FF S| 117,000 0 117,000
OZ2EJ|BAIAEH AERX S4
16,000,000% 14! 16,000
O2uetAlAg8 AE2lX =4 20,000,000%14! 20,000
OFSAATL2NUIA(GPN) SHBAAAY &
el 81,000,000%14! 81,000
HAIOIE 29 258,478 107,818 150,660
201 LBt Y| 52,478 51,818 660
01 AP 22| d| 14,920 14,260 660
O20E0I0E =3
720,000+(150,000*12& ) 2,520
OZEHOIXN EE2HS0A FSE4+=
2,500,000% 14! 2,500
OA=20 HE 2t AIE S 9,900, 000* 1Al 9,900
02 Z=22%H| 37,558 37,558 0
OWtE EHOIX |Xl2e
(172,113,000+20,810,000) * 10% 19,293
OEZHOIX DBES3t 24 S22
3,000,000* 1A 3,000
Ogsgs KXzl
(21,340,000433,220,000) * 10% 5,456
OYess A2 34,500, 000*10% 3,450
OdZgygaE AlAY S22 34,750,000%10% 3,475
OZHOlX SANAKAX SA22l 9,012,080%10% 902
OZEHOIX UARX S22 24, 773,050%8% 1,982
207 I & 200,000 50,000 150,000
02 & A 2| 200,000 50,000 150,000
OZH Ol X JHH 200,000,000 = 14! 200,000
301 et M= 6,000 6,000 0
12 JIEtE2 & =2 6,000 6,000 0
OZHOIXN 29 43 0O|HEY 6,000,000 6,000
MAEH 2 L 2H 655,133 596,889 58,244
201 LBt 453,633 497,389 N43,756
01 AP 22| H| 344,633 392,389 NAT 756
OdEdEE2 ATE O At =) 100,033
— 002 2ATE QIUA TR HZ2E AIEH
247 ,500%300X+(74,250,000%0.54%) 74,651
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OdHFE ZElH 4A2F HItAS 97,200
—DEH A23 8,100,000+ 122 97,200
OImgl dx(otzad) 29 145,000
— 9Xt Ot A A (2018~2022) 30,000,000 30,000
— 10X Ot 24 (2019~2023) 30,000,000 30,000
— 11Xt OF2 A Al (2020~2024) 35,000,000 35,000
— 12X OF2 A Al (2021~2025) 20,000,000 20,000
— 13X OF2 4 &l (2022~2026) 30,000,000 30,000
OBFHE Y2EX S|
8,000+5H x5 x128 2,400
02 232gl 109,000 4,000
OHEE MuoEH KA 109,000
—HAFH FX2e S 47,000,000%2% 94,000
— dAEH =28 B 20
1,250,000%12& 15,000
405 TtobF S| 201,500 102,000
01 AL EFH S 201,500 102,000
OHZFYRE MLEH ¢ 201,500
— A3 &PC 1,000,000*150CH 150,000
— 2LUH 280,000*150CH 42,000
—ZiZed wi 1,900, 000*5CH 9,500
A 24 128,064 128,064
A0LEE2 ZEX 128,064 128,064
2Bt | 122,304 122,304
01 At 2t 2l 32,304 32,304
OABLEZ Al HRFE S EHI
8,000+3H 8L «12& 2,304
OADIEE A #+= 20 E2H| 30,000, 000 30,000
02 2324l 90,000 90,000
O3%® ZECIE 29l 90,000, 000 90,000
202 O4dl 5,760 5,760
01 = LH 4 Hi 5,760 5,760
OABLEZ Al 2= 0l
20,000+3H 8L x12& 5,760
e =% 1,696,913 110,318
< 40,615
Al 1,656,298
SEAE 29 486,365 79,136
= 12,000
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Sl HESMAL 29 CEEEED
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dESHAAY 2F 168,000 28,000 140,000
401 AIEBIL 2 CHEI 168,000 28,000 140,000
01 A€ dl 168,000 28,000 140,000
OAME4A THHIXI & S&AE SA 20,000,000 20,000
Ol #3dgs CNE d& 60,000,000 60,000
Ogdzlo WA X 334l 80,000,000 80,000
Ol #HAEYS A2 3A 2,000,000%40 2 8,000
FESHANE 2 236,465 236,465 0
201 2Bt2 | 230,498 230,498 0
01 AtR 22l | 11,140 11,140 0
OHAARE 2¢ 125,000%204 2,500
OHZHBHSE M 450+2,0000H 23! 1,800
OYSHAE HAEXI(1.5V) 1,000+1,000H 1,000
OLs#AIE HEXI(9V) 2,000+1,000H 2,000
OSd 28 S| 8,000+8E x5 x 12 3,840
02 s3=29Hl 219,358 219,358 0
O UWERZA ANLEH gX2el 82,678
—Al-=2t SEYEH| 3,135,000 3,135
— 2 S3HEHI(VPN) 150,000, 000%6% 9,000
— AN RSEY(2X)FH 202,000,000%6% 12,120
— S A (LAN) 522,000,000%6% 31,320
—UHE/AIZCIAAS(ZLER)
130,625,000%6% 7,838
— 0|33 ®W=FHl 167,429,000%6% 10,046
— 422Xl OIS 3t &I 6,275,000 6,275
— ATME = E 1 2,944,000 2,944
O=U IP W&l s 426,000, 000%6% 25,560
OOt NS SAAE R 22
908,000, 000%6% 54,480
OFU CATV & IPEASEAAE S22
354,000, 000%6% 21,240
OMHLSAIAH (A HEH) A2
180,000, 000%6% 10,800
Oz ALY K2 360,000, 000%6% 21,600
O&3sIl FAl2c 3,000
—CXEE3 3,000,000 3,000
206 T 2 bl 5,967 5,967 0
01 M= dl 5,967 5,967 0
O2pr Aol= 200%2,500m 500
O10P JHol= 880+%1,000m 880
O25P Jlols 1,000%500m 500
OLANZE UTPIIOI = 350%2,500m 875
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- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OLANZtZ2 &= 24lH (RJ-45) 200%3,070H 614
OsSeEs+g 4 2,000%4 154 830
OARA! THHI X2 S8 XM 884,000%23| 1,768
DISABEAE E 2 81,900 142,764 A 60,864
= 12,000
Al 69,900
201 gEt24Hy| 21,900 21,900 0
02 Z2=2=24%4| 21,900 21,900 0
Qo AEAIE A2 365,000, 000*%6% 21,900
401 Al HI L 2 0HHI 60,000 120,864 A 60,864
=} 12,000
Al 48,000
01 Al&H| 60,000 120,000 A 60,000
Oolgte AEAIE WAHAX  40,000,000%1H0 A 40,000
= 12,000
Al 28,000
Oolerel HEAIE &2AHl 2,000,000%100 2~ 20,000
FBESAQ 2e 1,210,548 1,179,366 31,182
= 28,615
Al 1,181,933
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HE E) 12,800,000%12& 153,600
O2XEESAIAE(SMS) Ol22
14 .5%1,289,73221 18,702
OADBIESLY D] HOIE 22 19,800+65CHx12& 15,444
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A 3E2SA
M DAFY AHg 1S
el BABLAAHY DE
= _ — SHE|
SA - BB B (BA) - MM - BHES Ol &+ o4 e
R =Y PNE P
52,000,000 10% 5,200
— S SUHSE AL (MapPrime)
77,000, 000%12% 9,240
S2tEE 0B EL 3t 14,820 14,820
SUH4EE B = X 29 14,820 14,820
201 Let24d] 5,820 5,820
01 At 22l 5,820 5,820
OGPSE=E Il 223 7 200,000%2% *2set 800
O22H |X2e 5,020
—E22H 432 230,000%644 x2set 2,760
—EZ2H d & 210,000*3set*2set 1,260
—22H 22X 100,000%102f A 1,000
401 Al Bl & 28I 9,000 9,000
01 A& Hl 9,000 9,000

O=IINEE =AM 9,000,000+ 14 9,000




